© Copyright 2011 Appian Consulting Engineers, P.A.

These drawings have been prepared as

NOTE:

ALTERNATIVELY, EXISTING STEEL BEAM MAY BE WELDED TO COLUMN
TOP PLATE PROVIDED ALL EXPOSED NEARBY TIMBER IS PROTECTED.
CONSULT WITH ENGINEER FOR WELD SIZE AND LENGTH NEEDED.

instruments of service for a particular site or building improvement and remains the property of the Engineer for use under his supervision.

-
z e ] |1
= 2"MIN - -
M s | T
T - & &) ———COLUMN BELOW
g‘ {_*—_—f#[j $1: PLATE PATTERN FOR
°l BN TEE OR CORNER
! 1 L fHh
= | COLUMN
. |
= 9" |
* NOTE: A T ! ﬁCOLUMN BELOW
VERIFY BOLT PATTERN SHOWN | |T-—fe T/ &
WILL MATE WITH EXISTING o —(—'—"TIT N
STEEL BEAM FLANGE WITH _T‘_‘“? - ¢ fjg g:ﬁ ggLLTES FOR
BEFORE FABRICATING. & | I3 zls e " ‘
- " — . =7 PLATE PATTERN FOR

ALT. COLUMN TOP PLATE
FOR BOLTED CONNECTION

SEE PLANS FOR BEAM

SIZE & MATERIAL —R
: 6"
7/8" O HOLES FOR

IN-LINE COLUMN

o
!

| BM WIDTH + 1/8" MIN

.-‘N" n
3/4" THRU-BOLT - | =24

NOTE: I
TOP PLATE ON CORNERS, SIDES ottt e __Q Gi
AND ENDS TO BE 3/8" FLAT ) o T — 7/8" DIA. HOLES FOR
WELDED TO TOP OF COLUMN. /4 * 174 3/4" THRU-BOLT

a — S0 —— b

- 3/8° CL N ~— 3 1/2" DIA. SCH 40

i ———3/4" DIA. B STEEL COLUMN

HOLES =

- —-— >
. -~ 34" THK. =
BASE PLATE =

| &

/ N :

* | I ~ \\ S

& g 8 | g\ B

ROUND SCH 40 STEEL COLUMN
SEE FOUNDATION PLAN FOR SIZE

REPLACE CONCRETE W/ 4" THK
3000 PSI AIR ENTRAINED CONC.

|
(4) 5/8" AB's |5|
..-__...II. '- 9 lfx g " x 3 { " B AS E P L g
\ v 1" NS GROUT <
| EX. SLAB \| / / )
A — e ——————————————— — — — — — — — ]
L/ e s 1k 072 S
49 4 3"PROJ.—/ 4 [ — 1 9 ~ 4 )
________ ‘ 4 <7 A < {-f-'l.-"-!"‘i:." D V :_.:l.___li.._._l < I
= 'd B ] . ) I A Ia 4 4 i . 4 g
. O O O . A .
? da a < I I N
4 4 a qa g
: q R IR FE 9
4 g 2 I 1 4 v < ‘
. T~ 2 < [ ] [ ] [ ] pal [ ]
A 1 — , a - T < < A
e ‘ \ \ 4 ) g | ﬂq ¢ 4 4 ] ]
\ j 4"
3" 6 # 4'5 EW T&B 3"
4'-0" 8SQ.

/s31\TYPICAL NEW COLUMN AND FOOTING (U.N.O.)

U NOT TO SCALE

Details Developed By APPIAN Consulting Engineers

DATE: 4-1-19

SEE ALSO DETAIL

WHEN EXISTING STEEL COLUMN IS TO BE RETAINED.

Mo reproduction or other use is allowed withcout his

permission.

/6:32\ASSEMBLIES A-F SHOW o

s et | LT E A L sttt TS snsttat SRS
§ esEye [ metieretanieen [ Tessgesespedessesstio: - tssrbessni
HEAD STAMP
] ] g Rt
,D, F - Ty s
Assembly A Assembly B1 Assembly B2 Assembly C Assembly D Assembly E Assembly F
(2) 1 3/4" LVL's (3) 13/4" LVL's (3) 13/4" LVL's (4)13/4"LVL's  (1)13/4",(1)31/2"LVL's  (2) 13/4", (1) 3 1/2" LVL's (2) 3 1/2" LVL's
1/4 x 3 1/2" SDS 1/4 x 3 1/2" SDS 1/4 x 4 1/2" SDS 1/4 x 6" SDS 1/4 x 3 1/2" SDS 1/4 x 3 1/2" SDS 1/4 x 6" SDS
— N i i i i
A T Model L1 T Head Stamp f]\_ssenglbmg Mu!hple I:’hes.tc.)f L\;IT Tldmtl;e[ e
1/4 x 4 1/2 SDS 41/2" 2 3/4" S4.5 1. Fastener Spacing:
\_ 1/4x6SDS 6" 3 1/4" S6 ) a. Beams < or = to 14 inches: Fasten multiple members with 2 rows of
1/4" SDS screws at 12" o/c.
b. Beams 16" and deeper: Fasten multiple members with 3 rows of

1/4" SDS screws at 12" o/c.

2. Minimum Edge and End Distances for 1/4" SDS fasteners (Wide Face)

\A/ LAMINATED VENEER LUMBER (LVL) =

NOT TO SCALE

——

-
T

11/2" MIN. —=

T

i

Assembly B

Assembly A

Details Developed By APPIAN Consulting Engineers 3

/6:32\ASSEMBLYING PLYS OF

T
|

DATE: 4-8-16

End distance: 4"

b. Edge distance: 1 1/2"

Spacing parallel to grain: 4"

d. Spacing perpendicular to grain: 2"

. Fastener Length: See schematic above (ref Simpson Strong Tie):

FASTENING SPACING

—r /|, 1,

Assembly C

T 3.

2 PLY BEAMS:
a. 2 ROWS OF 10D (0.148"@) x 3" HDG NAILS

2. 3-PLY OR GREATER BEAMS:
| a. 2 ROWS OF 16D (0.162"d) x 3 1/2" HDG NAILS

IF BEAM IS PRESSURE TREATED, USE STAINLESS STEEL NAILS!
4. CENTER TO CENTER LONGITUDINAL C/L SPACING =

16" O/C STAGGER SPACED

Assembly D

MINIMUM EDGE DISTANCE

\ B8/ SOLID SAWN LUMBER

NOT TO SCALE

Details Developed By APPIAN Consulting Engineers

DATE: 7-31-18

SUPPORT DETAILS

S-55 |PROPER ASSEMBLY OF BEAMS

A * NOTE

SEE ALSO DETAIL
NI

a. END EDGE DISTANCE = 4"
b. EDGE DISTANCE =1 1/2"

2 1o
/2 N
(2)1/2" x 7" HDG -
THRU BOLTS ,,”,”_____
(2) 1/2" x 7" HDG /,:\;j:/<
THROUGH BOLTS ,/’,’/ ’,’,/

EACH KNEE BRACE

-]\
- A\
A\

r==-—-==
== —— ==
—_— .‘—I.

(2) 1/2" x 7" HDG

LAG BOLTS N
EACH BRACE |
i | "
P
||
e
1 g | | \h‘r\\/#/
=3
| "‘!-h1 “4“

S-35

— 6x6 P.T.

POST

4x6 KNEE BRACE/BEAM/POST DETAIL

NOT TO SCALE
Details Developed By APPIAN Consulting Engineers

DESIGN: Bobby Joyner

DESCRIPTION:

o~
o
o
o~
o
L
o
=
[}
>
o
z

REVISIONS

DRAWN BY:

DATE:

AS NOTED
N/A

HOR. SCALE:
VER. SCALE

N<ninirnir

(o] [w] [w] [s]
@

Aﬂnm

CONSULTING ENGINEERS, P.A.
CIVIL, MUNICIPAL &
STRUCTURAL ENGINEERS
COMPREHENSIVE
ENVIRONMENTAL SERVICES
BLN = C0562

154 Roundabout Ct.
Rocky Mount, N.C. 27804

Phone: (252) 972-7703
Fax: (252) 972-7638

www.appianengineers.com
admin@appianengineers.com

Final Drawings
Review Purposes ONLY

ion

t

itiga

Assistance Grant 5161-004

\\DROBOSN2\Shared_Folder\Appian Projects — Shared Folder\22089—Hyde—County—FMAG\Cover—details—notes\22083—HYDE COUNTY-FMAG—DETAILS.dwg <D—05.> 03/06/2023 — 8:34:1

County N.C. Flood M

o
-

5
L
=
O
L
n
=
<
-
L
-
Q
o
<
Q
<
<L
-
»n

AM



